
UNIT 6 Listening practice 
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1  4.11 Read descriptions A–C. Then listen to the 

beginning of the presentation. What is the speaker 
going to talk about? 

A The number of cars on the roads. 

B Something that can help drivers to save money. 

C How to buy a cheap car. 

2  4.11 Read questions 1–5. Then listen to the rest of 

the presentation and choose the correct answers. 

1 The speaker says that young drivers … 

 A have more accidents. 

 B all drive dangerously. 

 C are less likely to drive dangerously. 

 D should pay more insurance. 

2 ‘Telematics’ insurance is designed to … 

 A stop young people from driving. 

 B help safer drivers to save money. 

 C make drivers pay more money. 

 D help drivers to plan their routes. 

3 The first boy is worried … 

 A about driving at night. 

 B that his car might be stolen. 

 C that he will be told how to drive. 

 D that he will lose his privacy. 

4 How does the girl compare herself to her brother? 

 A She pays more for insurance than he does. 

 B She uses her car less than he does. 

 C She’s a much safer driver than he is. 

 D She’s a lot younger than he is. 

5 According to the second boy, telematics insurance 
could help the environment by … 

 A encouraging fewer people to drive. 

 B only being available to people who don’t drive 
often. 

 C showing people how to drive in a more 
environmentally friendly way. 

 D making cars that don’t pollute the environment. 

3  4.11 Listen again and complete the sentences with 

a word or phrase from the presentation. 

1 At the moment, car insurance for young people is very 
........................................... . 

2 If you have telematics insurance, you might not be 
allowed to drive ........................................... . 

3 The speaker says that the first boy described some of 
the ........................................... things about telematics 
insurance. 

4 The girl thinks it ........................................... that she 
pays the same insurance as her brother. 

5 Information about your driving can be sent to your 
computer or phone, telling you how to drive using 
........................................... . 

4  4.11 Listen again and answer the questions in 

your own words. Use complete sentences. 

1 Why has car insurance always cost young people a lot 
of money? 

 ...................................................................................... 

 ...................................................................................... 

2 What does the ‘black box’ in a car do? 

 ...................................................................................... 

 ...................................................................................... 

3 Why does the first boy disagree with the idea of 
having a ‘black box’ in his car? 

 ...................................................................................... 

 ...................................................................................... 

4 Why can the ‘black box’ be useful in an accident? 

 ...................................................................................... 

 ...................................................................................... 


